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02 2224 17,600 7,500 10,100
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SXNUNSESFEZ NS 29 19,500 15,500 4,000
201 LEt2AH| 19,500 15,500 4,000
03 A2 HH| 19,500 15,500 4,000
S0 A 19,500 15,500 4,000
OXYABIHAHERZ N SH(AIR) 2,000
—XIGZIE 2 S(435]) 2,000,000& 2,000
OEHs T2 2H(HE) 17,500
-2 AEIE(400H) 12,000,000& 12,000
-Z20 E3(100¥) 4 ,000,000& 4,000
(23 T2 (22 4}) 1,500,000 1,500
MEIXS SNEE &4 37,368 36,918 450
101 o12AH| 17,368 16,918 450
M4 JIZtHIZ2EsEs 17,368 16,918 450
S0 A 17,368 16,918 450
OEMNE MNSUHX 28(1Y) 17,368
|22 (5AI12H/352)
10,0302 *131A| 2tx 128 15,768
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OBA(ALHR) HEAEdA 18,000,000& 18,000
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OYLtE)| HA 2,000,000& 2,000
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=0 & 6,400 24,317 A17,917
OXlot D8 HE U3 SAt
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=20 A 9,400 12,000 A2,600
< 2,820
Al 6,580
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& 1,410
Al 3,290
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S0 A 22,000 22,000
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22,000,000& 22,000
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SAH=20IH 840 0 840
04 EAMSHEL2=XIB] 2,730 0 2,730
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